

Additional Funding Request

NY051	CSS# 30656 WO# 13328 Asset# NA															
Description of Repairs	Labor and materials to replace (2) 24-volt transformers, (2) capacitors, and install new disconnect switch.															
Diagnosis: Initial Work Order	Repair A/C in server room. Split unit is not running. Unit also does not have proper external disconnect box.															
Diagnostic Fee	<p>\$ 160</p> <p>Labor \$80/hr x 2</p>															
Additional Labor Cost to Perform Repairs	<p>\$ 640</p> <p>Labor \$80/hr x 8</p>															
Additional Material Cost to Perform Repairs	<p>\$ 361.80</p> <table border="1" style="width: 100%; border-collapse: collapse;"> <tr> <td style="width: 50%;">Class 2 Transformer</td> <td style="width: 10%;">2</td> <td style="width: 10%;">34.43</td> <td style="width: 10%;">68.86</td> </tr> <tr> <td>Fusible Air Conditioning Disconnect Switch</td> <td>1</td> <td>60.75</td> <td>60.75</td> </tr> <tr> <td>Oval Dual Run Capacitor</td> <td>2</td> <td>116.09</td> <td>232.19</td> </tr> </table>				Class 2 Transformer	2	34.43	68.86	Fusible Air Conditioning Disconnect Switch	1	60.75	60.75	Oval Dual Run Capacitor	2	116.09	232.19
Class 2 Transformer	2	34.43	68.86													
Fusible Air Conditioning Disconnect Switch	1	60.75	60.75													
Oval Dual Run Capacitor	2	116.09	232.19													
Total Cost of Repair	\$ 1161.80															



WORK ESTIMATE

CSS #:

30656

Work Order #:

13328

Emergency

Urgent

Routine

Company Name:	Tidewater, Inc.		Facility ID:	NY051
Contractor POC:	Adam Cology			
Telephone No:	740-819-6207		Building/Location; (e.g., Classroom/Room #)	
E-Mail Address:	adam.cology@tideh2o.net			
Assigned Technician(s):	Patrick Brown			

DESCRIPTION of WORK and EXPLANATION for REPAIRS or REPLACEMENT

Labor and materials to replace (2) 24-volt transformers, (2) capacitors, and install new disconnect switch.

LABOR/MATERIAL		MATERIAL/ SUB UNIT DOLLAR AMOUNT	LBR/HR \$80	LINE ITEM TOTAL DOLLAR AMOUNT
ITEM	QUANTITY			
Diagnostic			2	\$160.00
Class 2 Transformer	2	\$34.43		\$68.86
Fusible Air Conditioning Disconnect Switch	1	\$60.75		\$60.75
Oval Dual Run Capacitor	2	\$116.09		\$232.19
Labor			8	\$640.00
SUB-TOTAL COSTS:		Materials Total	\$361.80	Labor
TOTAL			\$1,161.80	



Cart

Item	Quantity	Total Price	Item Availability
 WHITE-RODGERS Class 2 Transformer, Open, 120V AC, 208V AC, 240V AC Input Voltage - Transformer Item #6WU91 Your Price: \$13.45	2	\$26.90	Expected to arrive Wed. May 26 using standard ground shipping (additional shipping options available at Checkout.)
 DAYTON Oval Motor Dual Run Capacitor,40/10 Microfarad Rating,370VAC Voltage Item #12N962 Your Price: \$45.35	2	\$90.70	Expected to arrive Wed. May 26 using standard ground shipping (additional shipping options available at Checkout.)
 GE Fusible Air Conditioning Disconnect Switch, Metallic, Galvanized Steel, 30 A Amps AC Item #6AYA1 Your Price: \$47.46	1	\$47.46	Expected to arrive Wed. May 26 using standard ground shipping (additional shipping options available at Checkout.)

 Chat with an Agent



